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1).The present ages of three colleague's are in proportions 3 : 5 : 7.
Four years ago, the sum of thier ages was 48. find their present ages (in
years) !

?ﬂqmﬁfﬁaﬁaﬁqﬁ%& 5.7 81 dR AT Ugd, 3P 39

BT AN 48 YT| AU IH (@Y H) BT YdT TG? '
1)12,20,28
2)12,15,33
3)15,28,17
4)20,12,28
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2)The ratio of the Mother's age to her daughter's age is 9 : 5. The
product of their ages is 1125. The ratio of their ages after ten year

HTAT YT QA Bt SR & U 9:5 8 SAP! AT & UG
1125%&%%%@ 10%313@13@"'?“?

a)l1l:5
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3). The age of Sohan is 4 times that of his son. Five years ago Sohan
was nine times as old as his son was at that time. The present age of
the sohan is- . < -
HIE Bl 31 I YA DI MG BT 4 T ¢ | UrT IY U8 HIg Pl
- 31Y YD P DI Y GHY B g b1 A1 T AT | Gig Bl aaddm
3




MISSION SSC -2024 I =9 -

4)The ratio between the present ages of A and B is 3 : 5 respectively. If
the difference between B's present age and A's after 7 year is 3 what is
the total of A's and B's present age ?
gaHT H A 9YT B $1 MY & 3UTd 3:5 @ dfc B B adAMH

 3TY 3R A1 7 q¢ q1G ST BT 3R 3 7 AN A 3R B & 3T BT
TR AT DY
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5).If x years ago, Raj’s age was four times the age of his daughter, and
x years hence, Raj’s age will be twice the age of his daughter, find the
ratio of the present ages of raj and his daughter.

afe x a9 ugd, I1eT B ITH = B IR 5t
ﬁxﬁwﬁm’waﬁﬁmwﬁ%ﬁggﬁ T
¥ R A P 3T BT JUTd AT |
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6). The product of the ages of Harish and Seema is 240 . If twice the
age of Seema is more than harish’s age by 4 years, what is Seema’s age

in years!

eﬂmaﬁ'\wﬂmaﬁww 2 . gfe dwr &t
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120 years ago my age was % of what it is now. What is
my present age?

20 T Tg AL I AT T 1/3 § A7 AL TIH ST FAT
2

(1) 30 years
(2) 25 years
(3) 35 years
(4) 40 years
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8)

Two years ago, a mother was four times as old as her daughter. 8
years hence, mother’s age will exceed her daughter’s age by 12 Years.
The ratio of the present ages of mother and daughter is

<l UTd UG, TH AT UHT 91 F IR AT SR 8 JTA TG

T 139 12 919 e g st aﬁw@rmaﬁ'\faﬁ
Hﬁﬁ#ﬂﬁ%ﬁaﬂqﬁ%
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A father’s age is three times the sum of the ages of his two
children, but 20 years hence his age will be equal to the sum of
their ages. Then the father’s age is

U U1 1 39 3MUA &) a1 1 IH & AT BT a4 AT R,
Sfh 20 ITA 91 ISP 39 SADI 3H P NT & SRT6Y
g A fiarsisu s
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10). The present average age of A, B and C is 44 years. 18 years from
now, the age of B will be equal to the sum of the present ages of A and
C. Find the present age of B?

A, B 3R C &1 gdH 3Nd qy g1 3T ¥ 18 94 91, B F!
mAaﬁ?cﬁaﬁqﬁmw%wﬁTﬂﬁaﬁaﬁqﬁ .

3T JTd DT

(a) 55
(b) 53
(c) 59
(d) not




11). The average present age of A and B is 27 years. The ratio between
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their ages, after 8 years will be 9:5. Find the age of B after 2 years from

his present age?

GEGRLIGES

A 3R B B 31T
~ 3JUTd 9:5 BT
(a) 12
(b) 17
(c) 19

(d) not

127 a¥ B 8 IY §1G ! 3 D
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12). Present age of QQ is ¥ times of P. The average present age of ad
R is 35 years. If 5 years ago the sum of ages of P and Q is 55 years, then
find the difference between present ages of P and R?

P! IAATT IR P DY % TAT 81 Q 3R R BT 3NTd IAq 3R 35 9N
4 %lqﬁsdﬁfjggpgﬁv(gujlr Oltﬁ"TEE_OIEf% P 3R &”Eﬁ

SREID Y o dId DT 3R ATd b

(a)
(b)
©
)

N Ut W o
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13).
P is 12 years younger than Q and 3 years ago (Q was three times of the

present age of R .If present age of P is twice the present age of R, then
find the present age of Q.

P, QY 12 94 BT & 3R 3 99 Ugal Q, R Bl TdHH T BT o9
*ﬂmmlltzrfﬁpﬁa?hﬁgngmﬁa?fqﬂangmaﬁwm g, dQ
P TAHT 3MTY JTd PIfoTY

(a) 30
(b) 32
(c) 28
(d) not
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14). In 10 years, A will be twice as old as B was 10 years ago. If A is n
9 Years older than B, the present age of B is ?

1094 91 A B 3Y B2 B PI3Y P 10 99 Ugd &, 3R
.4 ADBITYO arf\w%aaﬂn;rﬁa‘mﬁa?hﬁwmaﬁz

(a) 18
(b) 19
(c) 20
(d) not
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15). Kusum’s present age is 33(1/3) % of his father’s age and his father’s age is h
of kusum’s grandfather’s age. The average of the present ages of all of them is
500/6 years. What was the ratio of their ages 10 years ago?

HYH PI TAHT Y ISP U1 BT 3G BT 33(1/3)% © SR TP fUdr &1
3T & gIGrol &1 g &t 3meh 81 37 gt &t U 1Y
'500/6 ¥ g1 10 99 Yd 3T T UTd T YT?

alf

(a) 5:13:17
(b) 5:12:27
(c) 4:.7:13
(d) not
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16). The present average age of Surya and Veer is 6p - 15 years. The present average
age of Surya, Veer and Singh 1is 4p + 6 years. If the present age of veer is 25% less
than the present age of singh and 20% more than the present age of surya, then

find the present age of surya

AT 3R 9 BT adH 3T 3 6p - 15 99 5 | AT, IR 3R Rig ot
U S M 4p + 6 AU B | aﬂ?aﬁa?hﬁ&rr%ﬁigﬁa?hﬂang
A 25% BH g MR Gd B a9 M I 20% 3HT® g, a1 Jd B g9 Mg

ITd HifC|

(a) 15
(b) 18
(c) 30

(d) not
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17). The average age of a man’s wife, and his twin daughters is 50 years.
The ratio of the age of wife and a daughter is 4 : 1. What is the age of
father?

U fad 1 Tal 3R ITP! 847 afedl ot 3fid g 50 94 & |
Tl 3R T &t S &7 31T 4 - 1 3| fUar &t emyg fhat &

(a) 36
(b) 48
(c) 32
(d) 34




i

(a)
(b)
(c)
()
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26
28
32
36

Seven vyears later from now shyam will be as old as rohan was 4 years ago
ramesh was born 2 years ago. The average age of shyam, rohan and
ramesh 10 years later will be 33yrs. What is the present age of shyam?

3T | GTd 9Y 916 XATH B 3TY Id-1 of gRN forat 4 ad uga
e PI A | TUR HT 99 2 9T Ugd
B 3R A P 3 3 33 T BT | TTH $I A AT @

g3(T YTl 10 Y 91¢ 4T,




